—

Lidvoht.o. ol L5»L of O0.[00 pt gy
Lo whidk WSpg 81 water s addyy

T}"IQ//\ “t/’t ?96@(? %f’é%:@/u//{i\

e~ PENIESNO. | . S
C,mw/u(/ e %’ y(/ _

C h\OQ[Vd |~ mcw« [/C,V*“ _
}Y\cm\—- 0/09}7\ (/(OA_ Z)/f“( p

Mg = \/d” 50.0 X (U}whﬂ Un—/)
M W@c_

M ;| = @/UDM)C"C? W—f)
900»4/)

0




_(0.05
_’#’201{/)(
- 9ﬂ
(0./00) o=
- /?2.?‘(95«(
8% yﬂw

- oA
p j a7

RS
/B
0, O
014
e bae ) Wﬁg H o
(Csefor
ef ¢ &
o€ dZ’ v
Led o

pr--

Vi
15

%( 0.0509 m) -
= [, 30

f/f,_,—///’/

T ol

vrf‘(

/\/ﬂ,ﬁz}@éﬁd&/

(b&ﬁ
ne_

e
&7 91)/{’>

4 rrpls
(1Y
= 50,0,4
. 005
/Oﬂw’”/




~Y
h\l%w ( %/0 ol _ 9(9@%/09
vl Nal
2900»/1»%0@ % ;}
al A Moo (OO 0-€

mpw = 0033
ol = ‘{%(§0%%) Az

e ——

B T s
M '%OM ; yz&&/zﬁ /J/azz@

> 29#&

s g0 M_}m/ﬁw
/‘j‘”ﬁ L 9\/40”’ /00D .l N bV
DG X, 077
pf&ou = NP0 e
g # o 7 prlso 0 A 50
m/w’;n’/ s vt s Lo burse )




%f’)’)”@éw 2,00k ”9&'4 _ L y/ﬂ'_}wf/
e Ma () V- Wy
Cy —

| 5 T R
- %rO'DK/O _ Z') */0 "‘&/
}YL[/'/MU) ol by
/\/Aﬂ#

00”’” €700l |
zéﬂu Maﬁ»fawx@_[f;;

500X 0 el Haly
(wm) T 0.0%00 L

— 6, ZSE ,V/ﬂ_}/;f\
N &l
poi = ligl Cosen i) < 12
M 40

QP"% (}?DH = /&
oy = ¢ “Lle = 4




volume

NaOH pH

0.00 1.30

5.00 1.44
10.00 1.60
15.00 1.81
20.00 1.95
25.00 7.00
30.00 11.95
35.00 12.22




